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‘ SERMO TIRICHIET 51 i alERIHA
?;I?; TREDOBEBOEILHDRES TREDHBESSLADKRES TRENBBOEILNDOKRES TREQHBETILODKRES
= = frray = A\ T = = frray = T AN = =
7 100kN/mM##z25| 1.00 | 000 ~ 375 160.89 |3m%E#BZB| 000 ~ 222| 4.02 21.53 | 100kN/m%#825 | 1.00 | 1053 ~ 5699 160.89 |3mEZ 2| 2500 ~ 5699 4.02 21.53
ThList 100375 ~ 1s3| 100.00| ThiS | 222 ~ 1153] 3.00 16.05 FhnLst 1.00 | 5.00 ~ 1053 100.00| FTnst | 5.00 ~ 2500 3.00 16.05
2 100kN/m# 825 | 1.00 | 000 ~ 337\ 15411 |3mZEBZ3| 000 ~ 202| 3.88 20.75 | 100kN/m#%#825% | 1.00 | 1071 ~ 5395 15411 |3mEBZB| 3000 ~ 5395| 3.88 20.75
FnLst 1.00) 337 ~ 115\ 100.00| Ths | 202 ~ 1115] 3.00 16.05 TnLlst 1.00 | 5.00 ~ 1071 100.00 | =npst | 6.00 ~ 30.00| 3.00 16.05
3 100kN/m%#8zx%| 1.00 ) 000 ~ 337 156411 |3mEBZB| 000 ~ 202| 3.88 20.75 | 100kN/mMi%#8z25 | .00 | 1071 ~ 5395 154.11 |3mEBZB| 3000 ~ 5395| 3.88 20.75
zhLst 1.00 | 337 ~ 1115 100.00 | =hist | 202 ~ 1115| 3.00 16.05 TnLlst 1.00 | 6.00 ~ 1071 100.00 | =05 | 6.00 ~ 3000| 3.00 16.05
4 100kN/m#z#Bz25| 1.00 | 000 ~ 324 15178 |3m&EBZ5B| 000 ~ 195 3.83 20.51 | 100kN/mi%x#8z25 | .00 | 1085 ~ 5539\ 151.78 |3mERBZB| 2000 ~ 5539| 3.83 20.51
Thilst 1.00 | 324 ~ 1102 100.00 | =hds | 1.95 ~ 1102| 3.00 16.05 Tnilst 1.00 ] 6.00 ~ 1083 100.00 | =04 | 6.00 ~ 40.00| 3.00 16.05
5 100kN/m%#82%| 1.00 ) 000 ~ 324| 15178 |3mEBZD| 000 ~ 195 3.83 20.51 | 100kN/m%i#B=2 5| 1.00 | 1083 ~ 5538\ 151.78 |3m&EEZB| 000 ~ 5538| 3.83 20.51
ZhLsh 100|324 ~ 1oz| 100.00| TS | 1.95 ~ 1102] 3.00 16.05 Zn Lt 1.00 | 5.00 ~ 1083 100.00| ZnLs | 5.00 ~ 40.00| 3.00 16.05
P 100kN/m%#82.% — -~ = —|3mEBZBH| — ~ — — — | 100kN/MZ#BZ % — - ~ — — | 3m%iBZD -~ — — —
zhest 1.00 1 000 ~ 425 53.10 | =hst | 000 ~ 425 2.00 10.72 zhist 1.00 | 5.00 ~ 5.00 53.10 | =S | 6.00 ~ 5.00 | 2.00 10.72
7 100kN/m%#82% | 1.00 )| 000 ~ 309| 149.17 |3mEBZB| 000 ~ 014 | 3.08 16.46 | 100kN/m%i#825 | 1.00 | 1054 ~ 27.08| 149.17 |3mEEZB| 2500 ~ 27.08| 3.08 16.46
zhest 100|309 ~ 1087 100.00| ThLs | 014 ~ 1087] 3.00 16.05 Thist 100|500 ~ 1054 100.00| Ths | 5.00 ~ 2500| 3.00 16.05
8 100kN/m##z25| 1.00 | 0.00 ~ 309 149.24 |3m%EBZB| 000 ~ 015] 3.08 16.48 | 100kN/m%i#8z25 | 1.00 | 1054 ~ 2708 149.24 |3mEBZB| 2500 ~ 27.08| 3.08 16.48
ThnList 1.00) 309 ~ 1087 100.00| Ths | 015 ~ 1087] 3.00 16.05 ZnList 1.00 | 5.00 ~ 1054 100.00| FnLst | 5.00 ~ 2500 3.00 16.05
9 100kN/mM%#B % % — — ~ — —|3mZEBAB| — ~ — — — | 100kN/m%#8Z.% - - ~ — — |3mZEi#BA D -~ — — —
FhLst 1.00 1000 ~ 755 96.54 | =nst | 000 ~ 755\ 1.97 10.56 FhnLst 1.00 | 5.00 ~ 1108 96.54 | =nLSY | 65,00 ~ 1108| 1.97 10.66
10 100kN/m#E#8z5%| 1.00 ) 000 ~ 029 10423 |3mEBZB| — ~ — — — | 100kN/MZ#BZ5 | 1.00 | 1140 ~ 1237 104.23 |3mEHBZS -~ — — —
zhLst 1.001029 ~ 807 100.00 | =nLlst | 000 ~ 807|201 10.74 ZhLst 1.00 | 6.00 ~ 1140 100.00 | =hidst | 5.00 ~ 1237 2.01 10.74
11 100kN/m%#8 2z % — -~ - —|smzEzB| — ~ — — — | 100kN/MiZE#BZ 3 — - ~ — —|3mEBZ3 -~ — — —
Thilst 1.00 1 000 ~ 636 80.05 | TnLst 000 ~ 636|173 9.26 TnLlst 1.00 1 6.00 ~ 747 80.05 | =nS | 6.00 ~ 747|173 9.26
12 100kN/ Mm% 2% — -~ = —|3mzEZB| — ~ — — — | 100kN/mMZ#8Z % — - ~ — — | 3m%EBAD - ~ — — —
Fhest 1.00 1 000 ~ 382 48.05 | =St | 0oo ~ 382|212 11.36 FnLlst 1.00 | 5.00 ~ 5.00 4805 | #hst | 5.00 ~ 5.00| 2.12 11.36
13 100kN/m%#8 2% — -~ = —|3mEBRB| — ~ — — — | 100kN/mMZ#BZ % — - ~ — — | 3m%iBZ D - ~ — — —
st 1.00 1 000 ~ 434 54.23 | =S | 000 ~ 434 | 1.97 10.57 zhLst 1.00 | 5.00 ~ 5.00 54.23 | TN | 6.00 ~ 5.00)| 1.97 10.57
14 100kN/m##82.% — -~ = —|3mzEzB| — ~ — — — | 100kN/ Mm%z 5 — - ~ — — | 3mEBZS -~ — — —
Thst 1.00 000 ~ 763 97.74 | =hs | 000 ~ 763|207 11.10 ZzhLst 1.00 | 56.00 ~ 1040 97.74 | Thst | 6.00 ~ 1040 2.07 11.10
15 100kN/ Mm% % % — — ~ — —|3mZEBAB| — ~ — — — | 100kN/m%#BZ.5 - - ~ — — |3mZEBZAS -~ — - -
zhs 1.00 000 ~ 763 97.74 | Fhs | 000 ~ 763|207 11.10 Thist 1.00 | 56.00 ~ 1040 97.74 | Ths | 5.00 ~ 1040) 2.07 11.10
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= = AN E AN T = = T AN = TE AV = | =
16 100kN/ Mm% % % — — ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#BZ.% - - ~ — — | 3mZEBZASD -~ — - -
FhnList 1.00 1 000 ~ 763 97.74 | =nLs | 000 ~ 763|207 11.10 FhnLst 1.00 | 5.00 ~ 1040 97.74 | FnLS | 5.00 ~ 1040 2.07 11.10
17 100kN/mM%#B % % — — ~ — —|3mZEBAD| — ~ — — — | 100kN/m%#BZ.% - - ~ — — |3mZEi#BA D - ~ — - -
FhLst 1.00 1000 ~ 763 97.74 | =nLs | 000 ~ 763|207 11.10 Fhn st 1.00 | 5.00 ~ 1040 97.74 | ENLSY | 5.00 ~ 1040 2.07 11.10
18 100kN/m%#82.% — -~ = —|3m&TBRB| — ~ — — — | 100kN/mMZ#BZ % — - ~ — — | 3m%EBAS -~ — — —
zhLst 1.00 | 000 ~ 316 40.37 | =nLs 000 ~ 316|229 12.24 ZhLst 1.00 | 6.00 ~ 5.00 40.37 | #hs | 5.00 ~ 5.00| 2.29 12.24
100kN/mM%#8Z % ~ ImERBZD ~ 100kN/mM%#BZ 5 ~ ImERZD ~
ZhnLlst ~ zhst ~ ZhLst ~ Zhrs ~
100kN/m%#82.% ~ ImEBZD ~ 100kN/ Mm% 2 % ~ ImETBRD ~
ZhLsh ~ ZhLIs ~ Zn Lt ~ ZHnList ~
100kN/m%#82.% ~ ImERBZD ~ 100kN/ Mm% 2% ~ 3mEEAD ~
ZhLsh ~ ZhLs ~ ZznLst ~ ZHnList ~
100kN/m%#82.% ~ ImEREZD ~ 100kN/M%Z#B % % ~ ImEHBRD ~
zhest ~ Thusn ~ Thist ~ Thist ~
100kN/ Mm% Z % ~ ImEEZD ~ 100kN/mM%#BZ 5 ~ ImEREAD ~
zhus ~ Thst ~ ZFhLs ~ ZhLs ~
100kN/mM%#B % % ~ ImEEZD ~ 100kN/m%#8% % ~ ImEBAD ~
zhus ~ zhst ~ FhLst ~ Zzhs ~
100kN/m%#82.% ~ 3ImEE2RD ~ 100kN/ Mm%z % ~ ImEBZD ~
zhs ~ zhst ~ Zhust ~ Zhs ~
100kN/mM%#BZ% % ~ IMEEZD ~ 100kN/mM%#8Z 5% ~ ImEBZD ~
ZhLlsh ~ zhs ~ ZhLs ~ Zhs ~
100kN/ Mm% 2% ~ ImEBZD ~ 100kN/m%# 2% ~ ImERZD ~
ZFNLst ~ ZNnLs ~ ZnLst ~ ZnList ~
100kN/m%#8 2% ~ ImERBZD ~ 100kN/m%#82. % ~ 3mEEAD ~
ZhLst ~ ZhLIs ~ ZznLst ~ ZHnLis ~
100kN/m##82.% ~ ImERBZD ~ 100kN/ M#Z#B % % ~ ImEBRD ~
Thest ~ ThLsn ~ Thist ~ Thilst ~
100kN/ Mm% % % ~ ImEEZD ~ 100kN/mM%#BZ5 ~ ImEREAD ~
Thst ~ Thes ~ Thist ~ Thilst ~
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